SuperKEKB

2018 8 10

KEK



11 P.2

SuperKEKB 3Hz

2013 7 10m 2
nm




1.2 2013 7

P.3

10m 2
2
2
p
100 100
E \/\ 5
S 10 S 10
£ Mul £
1 UI | 1
0.1 ! 0.1
1 10 100 1 10 100
Frequency [HZ] Frequency [HZ]
() (b) 2
. Fig2 2013 7 19 14 45 14 55 )
SuperKEKB 50nm




1.3

3Hz

2017 8

Fig.3

https://map.yahoo.co.jp/

P.4



B4F

XYZ

r

*

e
|

~

s

-06X
1um/s?

MMI

6,100

5,600 5,600

1F

5,600

5,600

Belle

2.1

<

Wwog

5,600 5,600

Fig.4

6,100

-

0068'¥ 006t




2.2

FFT
1 > 2 —_—
2
Fig.5 2
Table.l1 FFT
1000Hz

4096

75%




2.3 2

2
(
100
— 10 \\ i — 10 Sso
a \ | a = o EHNS
é ~n1 ; o N <A -
c 1 c 1 e
= v c =G
01 ] === = 0.1 t: ‘\ =
001 — 04 - 0.01 _ RS TS
0.7 pam/s? = TSa
0.001 0.001 [N
1 10 100 1 10 100
Frequency [Hz] Frequency [HZz]
(@) (b)
L Fig.6

1pam/s?




3.1

8 5 0 18 8 6 8 30 17 30
8 6
8 5 18 8 7 12
B [h]
0ol1 121314567 [8 ]9 [10]11]12]13]14|15|16]17|18[19]20[21]22]23
8H5Ei(:l:)< A — ﬁ%. >
. EBEE
< mE < g > #w® >
8A6E(B) HREh I - y
Bk T1E8 BB
—~—uillll 5 i
8878B(AH) AT s
P O
SuperKEKB &% fisllE R #% &)

Fig.7



3.2

~

20Hz

3Hz
8 5 ( )18 8 6 ( )17 30
r
100 8/6 11:55-12:10 100 8/5 22:25-22:40
— N —8/6 12:40-12:55 —_ = —8/6 07:25-07:40
o 10 - . — = ——————m o 10
<) S =
£ 1 £ 1
c c
0.1 == 0.1 /
0.01 = 0.01
0.001 0.001 ’4
1 100 10 100
Frequency [HZz] Frequency [HZz]
(a) (b)
3Hz 10.2nm 4.7/nm
Hz 3Hz



3.3

8

1 1
I ——————
6 1 7 7
8 6 17 30 24
8 6 ( )17 30 24
-
100 8/6 18:50-19:05
= N\ —8/6 20:50-21.05
g v \,\k—% 22:50-23:05
= \/,\
£ 1 -
c R
0.1 / ;\—‘ﬁ\
0.01 _ ==
0.001 f
1 10 100
Frequency [Hz]
Fig.9 1
L g
3 20Hz

20Hz




~

20Hz

3.4 1 2
I
8 7 0 !
8 7 ()O
-
100 8/7 00:35-00:50 100 8/7 05:05-05:20
— "N 1 —8/7 02:05-02:20 — AN —8/7 06:20-06:35
o 10 —8/7 03:35-03:50 o 10
=) =3
e 1 £ 1
= £,
0.1 0.1
0.01 = <2 0.01
0.001 i 0.001
1 10 100 10 100
Frequency [HZz] Frequency [HZz]
Fig.10 1
L g
3Hz
Hz 3Hz




3.9

v

8 7 (

)6 43

6

50

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

OO O© OO | N[N

54

0.01

Fig.11

10
Frequency [HZ]

100




3.9

v

8 7 (

)6 50 7 05

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

O O©C| O©| OO | N[N |~

54

0.01

1 10
Frequency [HZ]
Fig.12

100




3.9

v

8 7 (

)7 05

2

20

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

47

O O©C| O©| OO | N[N~ ]|

54

0.01

Fig.13

01 -

10
Frequency [HZ]

100




3.9

v

8 7 (

)7 20

2

35

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

O O O O | O | N[~~~ |

54

0.01

Fig.14

10
Frequency [HZ]

100




3.9

v

8 7 (

)7 35 7 50

Table.2

100

12
29

10

[nm (0-P)]

46

10

22

28

0.1

47

O O O© O | O | N[~~~

54

0.01

1 10
Frequency [HZ]
Fig.15

100




8 7 ()7 35 9 10

100 N\
Table.2 =
- £ \j\\
2 |7 12 ==
7 29 Kw
7 46 R
1 /\\\ -
9 10 / \ﬁ'w
9 22 "MLA“ |
9 28 0.1 ﬂ'y f‘MH
9 47 \\\\ ! ‘q{‘*m
\ M
9 54
0.01 |
1 10 100

Frequency [HZz]
Fig.16 y




3.9

v

8 7 (

)9 10

9

20

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

O OC| O©| O©|O© | J|[~N ]|

54

0.01

Fig.17

10
Frequency [HZ]

100




3.9

8 7 4
8 7 ( )9 20 9 26
100
Table.2 =
Ll £ \/\
7 12 R
7 29 \M
7 46 M\J\
1 /\\ \J l
9 10 /
9 22 i
9 28 0.1 R
Wy
9 47
9 54
0.01
1 10 100
Frequency [HZ]
Fig.18




3.9

v

8 7 (

)9 27

9

35

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

O O OO0 OO | NN |

54

0.01

Fig.19

-
A
\
\
N
\
>
\
\
i

10
Frequency [HZ]

100




3.9

v

8 7 (

)9 44

9

53

Table.2

100

12
29

[nm (0-P)]

10

46

10

22

28

0.1

47

O O©C| O© OO | NN |

54

0.01

Fig.20

N
A
A
AN
N
A
\
\
AL ]

10
Frequency [HZ]

100




3.9

v

v

8 7 ( )10 08

10 20

Table.2

12
29

46

10

22

28

47

O O O OO | NN |

o4

100

[nm (0-P)]

10 \\ \/\/\
/\\)KAAJ |

e
\\ v
N
N
\
N
\
\

0.1

0.01

1 10
Frequency [HZ]
Fig.21

100




3.9

8 7 4
8 7 ( )6 43 10 20

4 Table.2 100 —8/7 06:43-06:50

—8/7 07:50-08:05
\A —8/7 09:10-09:20
\ —8/7 09:27-09:35

8/7 10:08-10:20

[nm (0-P)]

12 10
29

46
10
22
28 0.1
47
54

O O O OO | NN |

0.01

1 10 100
Frequency [HZ]

\_ Fig.22 )
20Hz




3.6

8 7 10 12

SuperKEKB

50nm

3Hz
8 7 ( )10 12
4 i - 3Hz 44.8nm
/ —8/7 11:50-12:05
= —8/7 10:39-10:50
o 10 <
S =
£ // =
0.1 =
0.01 IS =
0.001
10 100
Frequency [HZz]
Fig.23
L g
3Hz 44.8nm




KEK

3Hz

Hz

20Hz

20Hz

B4F

4.7/nm

44.8nm






1. P.27

KEK




P.28
|

[9al (0-P)]

8 7 0 ! 00:20 00:35
06 20 06 35 4
8 7 0 20 0O 35 8 7 6 20 6 35
1 1
— 4 o — 4
e
0.1 _& 0.1 /]M
0.01 , \
0.001 . f\ j'M‘ I }
0.0001
0.00001 0.00001
1 10 100 1 10 100

Frequency [HZz] Frequency [Hz]

3Hz 4




[dB] oo

[dB]

-10 -
220 -
-30 -
40 -
50 -
-60

-80
-90

10 -
220 -
-30 -
-40
50 -
60 -
-70 -
-80 -
-90 -

100

S AT

1400

1600

10 ?

10 2

10 3

10 4

1800

[s]

4 3.15Hz 12.5Hz
0 05~0 35
3.15Hz
i
0 200 400 600 800 1000 1200
12.5Hz
0 200 400 600 800 1000 1200

1400

A

1600

100

[N
o
[

=
o
N

(=Y
o
w

RN
o
IN

1800

.

[gal (rms)]

[gal (rms)]

P.29




P.30

4 3.15Hz 12.5Hz
8 7 7 05~7 35
— 0 100
% -10 - 3.15Hz —
-20 - 102 4
-30 - =
-40 - | 10 2 @
-50 ‘ il ‘ ‘ ; ‘ NN ‘ | -
60 'Nu"# *‘MWW .I-WM\\'P-W\.WFWwrw WWWM JFWW“MN "-“-"‘*‘JPHWNW%." W 10 3
-70 -
-80 - 10 4
.90 -
0 200 400 600 800 1000 1200 1400 1600 1800
[s]
o 12.5Hz 100
8 10 —
-20 - 102 4
-30 =
-40 10 2 g
50 - =
60 - 10 @
-70 -
-80 - 10 4
90 -
0 200 400 600 800 1000 1200 1400 1600 1[8530
4

3.15Hz 12.5Hz




